IIS <2016 118 08Y Al=h>

1228 Ma

f<hg B> WTHH, £ FBDL W2l BUH BFY $20| oHY HHAE FZotn HolYt 9
=]

Cto a0 wat A M27F Z3iA ofE

n

=7t O] FBI2l S2IE O|HY FAF SZ 240 HEARL M= Ofstof [MHE DH=A 7t Ltef ot

d

ot OFY & =E7b AX7b AKX @2 CiCh o Zakrk 9%0j|of Lt

*370E Y] S E, O HECH 2 R HHUE LY wyIt 2EHCE ot HCt 12 2
A J|THE 7HMISH 0.408%2 2008 11 0= %1
- X YRR 4FRe I 2001 O|F Z[CHQ! 6509 2] &l Ex

(0]=1]

2y 0.82% (+3.2bp)
Sy 1.29% (+5.4bp)
10y 1.83% (+5.0bp)
30y 2.60% (+4.0bp)

[7|Et 10YE]

gz 1.20% (+7.3bp)
=9 0.15% (+1.9bp)
matA 046% (+0.5bp)
O|Ef2|0oF  1.70% (-4.8bp)
A0l 1.24% (-2.5bp)
mEIES 7.23% (-38.4bp)
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DOWS30 18259.60 (+2.08%)
NASDAQ 5166.17 (+2.37%)
S&P500 213152 (+2.22%)

NIKKEI225  17177.21 (+1.61%)
SHANGHAI 3133.33 (+0.26%)

FTSE100 6806.90 (+1.70%)
DAX30 10456.95 (+1.93%)
CAC40 446121 (+1.91%)
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2/83 11044 (-0.0093)

11540 (+0.56)

10448 (+1.38)
67725 (+0.0211)

2 1.24038 (-0.01139)

NDF 1141.00 / 1142.009..1.859 &}2t
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WTI 44.89 (+1.9%)
COMEXZ 127940 (-1.9%)

[AO  1997.58 (+0.79%)
IAE 622.17 (+1.86%)
o

@l/=h{ 1143.10 (-0.30)
KTB 110.34 (+0.03)
LKTB 129.89 (-0.09)

CD(91d) 1.3900% ( 0.00bp)

ly 14210% (-0.10bp)
3y 1.4260% (-0.50bp)
Sy 1.5250% (+1.80bp)
10y 1.7070% (+1.30bp)
20y 1.8070% (+1.90bp)
30y 1.8330% (+2.10bp)
50y 1.8240% (+2.10bp)

7. BEC AQ Ampc

1y -7.85bp (+0.05bp)
2Y -10.25bp  (+1.20bp)
3Y -9.10bp (+1.00bp)
5Y -11.75bp  (-1.30bp)
10Y  -1745bp  (-0.30bp)
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1Y 13475% (-0.25bp)
2Y 13275% ( 0.00bp)
3y 1.3350% (+0.50bp)
5Y 14075%  (+0.50bp)
7Y  14600%  (+0.50bp)
10Y 15325%  (+1.00bp)

12Y -200 (+0.25bp)
2*3Y 075 (+0.50bp)
2*5Y 800 (+0.50bp)
3*5Y  7.25  (0.00bp)
5*7Y 525  (0.00bp)
5+10Y 1250  (+0.50bp)

*CRS =2

1Y 1.0350% ( 0.00bp)
2Y  0.9400% (+0.50bp)
3y 09150%  (+0.50bp)
5Y  0.9000%  (+1.00bp)
7Y  0.8600% (+1.00bp)
10Y 0.8650%  (+1.00bp)
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* 3 5E 135%&F 1.54% (+3.3bp) H&..S%& 4928%
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O|2-10Y NFIB A7|QLtaX|2 (0| AH94.6, O|F:94.1)
-9 JOLT ROIX} (0f AF:5.508M, O|F:5.443M)
Z=2-10€ 292K (0fAL51.70B, 0|X:41.99B)
-10€¥ 2Z(YoY) (0f Ak:-6.0%, O|F:-10.0%)

T=
-10€ £=Qi(YoY) (0]l Ah:-1.0%, O|7:-1.9%)
52-938 UEdLMoM) (0]4:-0.5%, 0]7:2.5%)
9% BA4K| (0f4+23.08, 0|F:22.2B)
-98 £ (MoM) (0] 4:-0.8%, O|F:5.4%)
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¢ (MoM) (0f| 44:-0.2%, 0]%:3.0%)
F=-98 LHZELHMoM) (0f :0.1%, 0]7H:-0.4%)
98 H=HMAHMoM) (04 44:0.4%, 0]7:0.2%)
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